n=TAJIE
FRER

SEGNIC 7%= =45°

AREER (RE) BUZTIERBARLQE
CENTECH-EG CO.,LTD.

o kPl - BeER - WRAAREMEBEFTRK - BB XEFNER686S

B 15:028-8580-7613 B8 #&:egnc@egnc.com.cn
& H:028-8583-1299 fR55#125:4008880085
%] ik:www.egnc.com.cn HP #5:610207

#WQQ:4008880085

RERE (RH ) BEETNERBERAF



AREWEE (D) BIRTIERBERAE
ABITF19975F, BEMA. #liE. HET —HNHETIERS. AEMUIE. JRARBASETNEST NG EEH
EINESHRARIL,

REETREHWURABREBEFARX, Sitb878H, HMABE3S5000F 5 KMAMEFDFHity, KRIT300RA.

CENTRIX-EG CO.,LTD.

It was founded in 1997, expert in manufacturing Tooling Systems , Turning Tools , Milling Tools , Boring Tools ,
Inserts and Solid Carbide Tools etc.

The company is located at SW Airport Economic Development Industrial Zone, Shuangliu county , Chengdu. Total
landholding is over 57,000 square meters with a modern workplace & workshop around 35,000 square meters

inside of the factory zone & 300 workers.

FENMIVERIEINESADEESEREN
£ENEREURAZRS

ZREBN

FENMHETIZHESEERA
MINEIZHERRN

Standing Committee Of China Metal Cutting Tool Engineering Association (CMCTEA)
Committee Of Standardization Administration Of China / Technical Committee (SAC/TC91)
Standing Committee Of China Association Machinery Manufacturing Technology (CAMMT)

Committee Of Sichuan Province Technology Association



SEGNIC

RIS

HSC#EJJ High speed cutting

o BEBERE HENTE;
® TERIMTHEAL;

o BEE;

o BATRIIINTHRE;

o RUHEENREARILE.

WFLIRIT, TSR T
BLETDRRE, 2255

SEGNIC # % w15°

JJiR: EM90B-40XD17D.HSKB3A.L120
TR XDGX175024PDFR-GL
TH##: =t

HISH :
N ( 5%iE )
F(HEE)
ap (HiR)

ae (¥1%)

25000rpm
15000mm

12mm

19.5mm



— ®
SEGNIC 73515 SEGNIC 7 % 4%
[$) & )
S m S| © 3 _g
G @
a
L1
a L
L
REBA B R9size . AEEA EEI RtSize )
) i JER (mm) 545 sy gy BT me i JER (mm) #525 yalss gy BT
Model Max RPM ?{gictliat?sle de dm d 2 B L No. of teeth Insert Screw e ——— Model Max RPM Egﬁ?sle de dm L1 a L No. of teeth Insert Screw e— .
FM90A-40XD17D 36000 40 16 34 15.5 8.4 50 3 EM90A-25XD17D. C 40000 25 25 50 15.5 125 2
FM90A-50XD17D 30000 50 22 45 15.5  10.4 50 4 EM90A-25XD17DL170. C 40000 25 25 80 15.5 170 2
FM90A-63XD17D 25000 63 22 50 15.5  10.4 50 5 EM90A-32XD17D. C 40000 32 32 50 15.5 150 2
FM90A-80XD17D 23000 80 27 60 15.5  12.4 50 5 XDGX1780.. CO30C08S SHTOBA EM90A-32XD17DL200. C 40000 32 32 80 15.5 200 2 XDGX1750.. CO30C08S SHTO8A
FM90A-100XD17D 19000 100 32 78 15.5  14.4 63 6 EM90A-40XD17D. C 36000 0.8-3.0 40 32 50 15.5 150 3
FM90A-125XD17D 16000 0.8-3.0 125 40 89 15.5  14.4 63 7 EM90A-40XD17DL170. C 36000 40 42 80 15.5 170 3
FM90A-50XD22D 30000 50 22 45 21 10. 4 50 3 EM90A-40XD17DL250. C 36000 40 32 50 15.5 250 3
FM90A-63XD22D 25000 63 22 50 21 10. 4 50 3 EM90A-32XD22D. C 40000 32 32 80 21 170 2
FM90A-80XD22D 23000 80 27 63 21 12. 4 63 4 XDGX2270.. CO040C11S SHT15A EM90A-40XD22D. C 36000 40 42 80 21 170 2 ADE LD, R IGHIS ST
FM90A-100XD22D 19000 100 32 70 21 14. 4 63 5 EM90B-25XD17D. C 40000 25 25 50 14.8 125 2
FM90A-125XD22D 16000 125 40 920 21 16. 4 63 6 EM90B-25XD17DL170. C 40000 25 25 80 14.8 170 2
FM90B-40XD17D 36000 40 16 34 148 8.4 50 3 EM90B-32XD17D. C 40000 32 32 50 14.8 150 2
FM90B-50XD17D 30000 50 22 45 148  10.4 50 4 EM90B-32XD17DL200. C 40000 32 32 80 14.8 200 2 XDGX1750.. C030C08S SHT08A
FM90B-63XD17D 25000 63 22 50 14.8  10.4 50 5 EM90B-40XD17D. C 36000 4.0-5.0 40 32 50 14.8 150 3
FM90B-80XD17D 23000 80 27 60 148  12.4 50 5 XDGX1780.. CO30C08S SHTOBA EM90B-40XD17DL170. C 36000 40 42 80 14.8 170 3
FM90B-100XD17D 19000 100 32 78 14.8  14.4 63 6 EM90B-40XD17DL250. C 36000 40 32 50 14.8 250 3
FM90B-125XD17D 16000 4.0-5.0 125 40 89 148  14.4 63 7 EM90B-32XD22D. C 40000 32 32 80 20.4 170 2
FM90B-50XD22D 30000 50 22 45 204 10.4 50 3 EM90B-40XD22D. C 36000 40 42 80 20.4 170 2 NS e, SRETTIS AT
FM90B-63XD22D 25000 63 22 50 204 10.4 50 3 A
FM90B-80XD22D 23000 80 27 63 204 12.4 63 4 XDGX2270.. C040C11S SHT15A *S]) RS ST F12ET
FM90B-100XD22D 19000 100 32 70 20.4 14. 4 63 5 *oR P (F FRTAAEIRTE, Ze2H%E (N.m) : C030C085=1.5N.m, C040C115=3.5N.m;
FM90B-125XD22D 16000 125 40 90 204  16.4 63 6

“EEEEERT |, MR B RRE T,
*EHRT] FHERHE R H185T

*ARPUMETS(H AR ER T, 2355 ( N.m) © C030C08S=1.5N.m, C040C11S=3.5N.m;

"EEEEIERT |, WRIE ) BRI,



SEGNIC # %z SEGNIC # % z=1°

HSC#:JJ(high speed cutting) J1 A (Insert)

90007,
(— ‘—\
o i /R
© /
O 1
a
L1 HSK63A
L2 S L
L »
RFERA ERN RYSize R~JSize
1 w8 AR (mm) g K gy B s (mm) TIRHE ERMITH
Model i No. of teeth Insert Screw Model Grade Application
Max RPM Eglcti?fsle dc dm L1 a L wrench d s L L1 r PP
EM90A-25XD17D.HSK63A.L90 40000 25 63 74 15.5 90 2 XDGX175008PDFR-GL 10.1 5.0 23.0 1.3 0.8
EM90A-32XD17D.HSK63A.L100 40000 32 63 74 15.5 100 2 XDGX175012PDFR-GL 10.1 5.0 23.0 0.9 1.2
EM90A-40XD17D.HSK63A.L120 36000 40 80 94 15.5 120 3 XDGX1750.. C030C08S SHTO8A XDGX175016PDFR-GL 10.1 5.0 22.0 1.4 1.6
EM90A-50XD17D.HSK63A.L140 30000 ( g 53 o 50 100 114 15.5 140 4 XDGX175020PDFR-GL 10.1 5.0 22.0 1.0 2.0
EM90A-32XD22D.HSK63A.L100 40000 32 63 74 21 100 2 XDGX175024PDFR-GL 10.1 5.0 22.0 0.6 2.4
EM90A-40XD22D.HSK63A.L120 36000 40 80 94 21 120 2 XDGX2270.. C040C11S SHT15A XDGX175030PDFR-GL 10.1 5.0 21.1 0.8 3.0 Py
EM90A-50XD22D.HSK63A.L140 30000 50 100 14 21 140 3 XDGX175040PDFR-GL 10.1 5.0 20.0 0.8 4.0 EW5210 Non t |
EM90B-25XD17D.HSK63A.L90 40000 25 63 74 14.8 90 2 XDGX227008PDFR-GL 13 7.0 30.0 2.0 0.8 on ferrous meta
EM90B-32XD17D.HSK63A.L100 40000 32 63 74 14.8 100 2 XDGX227016PDFR-GL 13 7.0 30.0 1.2 1.6
EM90B-40XD17D.HSK63A.L120 36000 40 80 94 14.8 120 3 XDGX1750..  C030C08S SHT08A XDGX227020PDFR-GL 13 7.0 30.0 0.8 2.0
EM90B-50XD17D.HSK63A.L140 30000 4.0-5.0 50 100 14 14.8 140 4 XDGX227030PDFR-GL 13 7.0 28.8 0.8 3.0
EM90B-32XD22D.HSK63A.L100 40000 32 63 74 20.4 100 2 XDGX227040PDFR-GL 13 7.0 27.5 0.9 4.0
EM90B-40XD22D.HSK63A.L120 30000 40 80 94 20.4 120 2 XDGX2270.. C040C11S SHT15A XDGX227050PDFR-GL 13 7.0 27.0 0.4 5.0
EM90B-50XD22D.HSK63A.L140 36000 50 100 114 20.4 140 3

YEHRT] R HRRIEE R R RET
*RFUETF(F AR 4% (N.m) : C030C08S=1.5N.m, C040C11S=3.5N.m;
BEEERT , BRIET BN TE,



sty

SEGNIC

ARIREAES

EFHC-LOCKEIRZ LM

New C-Lock Anchoring Structure

o NEWE. Bk

o STLME. TN,

o EAKASREAMEHERMIINT
RN TH, SERRATEIENI=SHIIA
MWTIEREERE; C-LockBlEEM JIMEA & RbA LE
SYJHIRT BT B RIEYE, NMEERMIZEFESRT
HIRIE KBS

=i ERNFE
High Precision Dynamic Balance

G2.5/25000rpmAI BB E ) F 1, (EIMAEM T WL
BIERBHIMTHERREMLSE

o E g LT
Variable Balance Design

EDRZORBESTETE, UBHTFEREIDAER
#C-LockEEtH RN FEE; s FEIRETRAMARL
2, BReEiEE T~ SHAXE .

BERSG

SEGNIC # %= w15

C-LoCkimERES I AR A H

1z EIS R T RGENS . SBEESESLTIM. SR SESLTIMRAIC- Lokt 4510 T] BB IN RS ;

2EMBXERTWNT:
L2
L1 C-C
oD2 | C e
LN
>0 R
k _ \
B
T
- % —
B _ | =
=
< { < /
45 C o
EEGIAGIRTIEREEE.
®D D1 ®D2 L1 " H o
() 33 g,
8 75 3 4 6 2.5 2.5
10 9.5 3 4 6 3.5 3.5
12 1.5 3 4 6 4.5 4.5
14 13.5 3 4 6 5.5 5.5
16 15.5 4 5 8 6 6
18 17.5 4 5 8 7 7
20 19.5 4 5 8 8 8
25 24.5 5 6 10 10 10
32 31.5 5 6 10 13.5 13.5

C-Lock# = C-Locks#gEL TR C-Locksz /I3 TR
1.C-LockéEH; 1.C-Lock&5#); (BEVAESSH

2 AL 2 AIEmhFERRIT; 2. 2EEC-LockiL;

3. T EEEBIZC-LockimEINL . 3. TJERER%EC~LockirENT . 3. 7] ERERZDIN1835B ™AL .

10



SEGNIC # %= x15°

SEGNIC # % z=1°

C-Lock#ZETJ#K(C-Lock Hot Charging Holder)

W‘éi”’; 1.C-Lock&5Ha;
' 2 VA HENR T

3. JJEtRERFEZC—LocktmENNL .

R~JSize
k= l (mm)
Model — dm D1 D2 L H
BT40-SSF08-90 40 8 20 27 90 36
-120 40 8 20 27 120 36
BT40-SSF10-90 40 10 24 32 90 42
-120 40 10 24 32 120 42
BT40-SSF12-90 40 12 24 32 90 47
-120 40 12 24 32 120 47
BT40-SSF14-90 40 14 27 34 120 47
-120 40 14 27 34 160 47
BT40-SSF16-90 40 16 27 34 120 50
-120 40 16 27 42 160 50
BT40-SSF18-90 40 18 &3 42 120 50
-120 40 18 33 42 160 50
BT40-SSF20-90 40 20 88 42 120 52
-120 40 20 33 42 160 52
BT40-SSF25-100 40 25 44 58 120 58
-120 40 25 44 53 160 58
*HHHRERIRIT I,
B4 T8RS s B58/9
Accessories Ordering code Model Weight/g
M6x3.5 0.478
M6x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76
BSMO06 M6x6 0.808
B FEIRET M6x6.25 0.862
Balance Screws M6x6.5 0.894
M6x7 0.978
M6x7.5 1.066
M6x8 1.138

*I IR TR AT,

C-Lock#ZETJ#E(C-Lock Hot Charging Holder)

'vz(:‘: 1.C-Lock&5Ha;
’ 2 " EnR T

3.7 EtmEbFEZC-LocktmENNL .

R~fSize
me A (mm)
Model = dm D1 D2 L H
BT50-SSF08-100 50 8 20 27 100 36
-120 50 8 20 27 120 36
BT50-SSF10-100 50 10 24 32 100 42
-120 50 10 24 32 120 42
BT50-SSF12-100 50 12 24 82) 100 47
-120 50 12 24 32 120 47
BT50-SSF14-100 50 14 27 34 100 47
-120 50 14 27 34 120 47
BT50-SSF16-100 50 16 27 34 100 50
-120 50 16 27 34 120 50
BT50-SSF18-100 50 18 33 42 100 50
-120 50 18 33 42 120 50
BT50-SSF20-100 50 20 33 42 100 52
-120 50 20 33 42 120 52
BT50-SSF25-110 50 25 44 53 110 58
-135 50 25 44 53 135 58
BT50-SSF32-110 50 32 44 53 110 58
-135 50 32 44 60 135 58
PR ERIRIT I,
B4 &S Bs =E8/g
Accessories Ordering code Model Weight/g
M6x3.5 0.478
M6 x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76
BSMO06 M6x6 0.808
B EIRET M6x6.25 0.862
Balance Screws M6x6.5 0.894
M6x7 0.978
M6x7.5 1.066
M6x8 1.138

)RS TR T I,

12



SEGNIC # %=z 1° SEGNIC # %=z 1°

C-Locki#ZEETI#R(C-Lock Hot Charging Holder) C-Locki#ZTI#R(C-Lock Hot Charging Holder)

13

'nggoor,%
G25 1.C-Lock&sHa: 20001, 1.C-Lock&Et ;
2 BB IR G2.5 2 B EEEENR LT
3. JIEERFEIEC-LockimENL . 3. 7IERERFEIZC-LockimAENN L .
RfSize RYfSize
e [ (mm) BsS [ | (mm)
Model — d Model —
m D1 D2 L H dm D1 D2 L H
HSK63A-SSF08-80 HSK-A63 8 20 27 80 36 HSK100A-SSF08-85 HSK-100 8 20 27 85 36
-120 HSK-A63 8 20 27 120 36 -120 HSK-100 8 20 27 120 36
HSK63A-SSF10-85 HSK-A63 10 24 32 85 42 HSK100A-SSF10-90 HSK-100 10 24 32 90 42
-120 HSK-A63 10 24 32 120 42 -120 HSK-100 10 24 32 120 42
HSK63A-SSF12-90 HSK-A63 12 24 32 90 47 HSK100A-SSF12-95 HSK-100 12 24 32 95 47
-120 HSK-A63 12 24 32 120 47 -120 HSK-100 12 24 32 120 47
HSK63A-SSF14-90 HSK-A63 14 27 34 90 47 HSK100A-SSF14-95 HSK-100 14 27 34 95 47
-120 HSK-A63 14 27 34 120 47 -120 HSK-100 14 27 34 120 47
HSK63A-SSF16-95 HSK-A63 16 27 34 95 50 HSK100A-SSF16-100 HSK-100 16 27 34 100 50
-120 HSK-A63 16 27 34 120 50 -120 HSK-100 16 27 34 120 50
HSK63A-SSF18-95 HSK-A63 18 &3 42 95 50 HSK100A-SSF18-100 HSK-100 18 33 42 100 50
-120 HSK-A63 18 33 42 120 50 -120 HSK-100 18 33 42 120 50
HSK63A-SSF20-100 HSK-A63 20 88 42 100 52 HSK100A-SSF20-105 HSK-100 20 88 42 105 52
-120 HSK-A63 20 33 42 120 52 -120 HSK-100 20 33 42 120 52
HSK63A-SSF25-115 HSK-A63 25 44 53 115 58 HSK100A-SSF25-115 HSK-100 25 44 53 115 58
-120 HSK-A63 25 44 53 120 58 HSK100A-SSF32-120 HSK-100 32 44 42 120 58
PR ERIEIT A, *HHHR IR,
B4 15BES BS =E/9 B4 T8RS i) EE/9g
Accessories Ordering code Model Weight/g Accessories Ordering code Model Weight/g
M6x3.5 0.478 M6x3.5 0.478
M6x4 0.524 M6x4 0.524
M6x5 0.64 M6x5 0.64
M6x5.5 0.728 M6x5.5 0.728
M6x5.75 0.76 M6x5.75 0.76
BSMO06 M6x6 0.808 BSMO06 M6x6 0.808
T RET M6x%6.25 0.862 FEIRET M6x%6.25 0.862
Balance Screws M6x6.5 0.894 Balance Screws M6x6.5 0.894
M6x7 0.978 M6x7 0.978
M6x7.5 1.066 M6x7.5 1.066
M6x8 1.138 M6x8 1.138
= RIKREE = REBEE
EE Coolant tubes TU-HSK63 HEE Coolant tubes TU-HSK63
RF e
Coolanttube W-HSK63 F==== Coolanttube W-HSK63
Wrench Wrench

*I IR TR AT,

*I) IR T TR,

14



SEGNIC # %= z1° SEGNIC # % x5

C-LocksgEF L JTIHR(C-Lock Collet Chucks Holder) C-Locksg#E I L TI#K(C-Lock Collet Chucks Holder)

N 1.C-LockéEH ; 4500070, 1.C-LockZEH
2.9 2 ATEEhF R °2-9 2 ARSI
3. JIBEERFHEIEC-LockimAENT 3. TJEAEEREIRC-LockimAEINT .

15

R<Size < R~JSize <
Be l (mm) Q) @ mE [ (mm) @
Model — 125 S5 Model — 3= S
= dm 2 . Nuts Collets dm b L Nuts Coliets
BT40-SSD1612-85 40 12 40 85 CND16 SD16-12 HSK63A-SSD1612-100 HSK-A63 12 40 100 CND16 SD16-12
BT40-SSD1616-85 40 16 40 85 CND16 SD16-16 HSK63A-SSD1616-100 HSK-A63 16 40 100 CND16 SD16-16
BT40-SSD2520-100 40 20 55 100 CND25 SD25-20 HSK63A-SSD2520-120 HSK-A63 20 55 120 CND25 SD25-20
BT40-SSD2525-100 40 25 55 100 CND25 SD25-25 HSK63A-SSD2525-120 HSK-A63 25 55 120 CND25 SD25-25
BT50-SSD1612-100 50 12 40 100 CND16 SD16-12 HSK100A-SSD1612-110 HSK-A100 12 40 110 CND16 SD16-12
BT50-SSD1616-100 50 16 40 100 CND16 SD16-16 HSK100A-SSD1616-110 HSK-A100 16 40 110 CND16 SD16-16
BT50-SSD2520-120 50 20 55) 120 CND25 SD25-20 HSK100A-SSD2520-130 HSK-A100 20 55 130 CND25 SD25-20
BT50-SSD2525-120 50 25 55 120 CND25 SD25-25 HSK100A-SSD2525-130 HSK-A100 25 55 130 CND25 SD25-25
BRI, BRI T,
Fff{4 Accessories SD16 SD25 Ff14 Accessories SD16 SD25
2=, 5 F Hex Wrench WCN25 WCN32 2=, #¥F Hex Wrench WCN25 WCN32
B4 1T55 s HE8/9 B4 58S itk BHE2/9
Accessories Ordering code Model Weight/g Accessories Ordering code Model Weight/g
M6x3.5 0.478 M6x3.5 0.478
M6x4 0.524 M6x4 0.524
M6x5 0.64 M6x5 0.64
M6x5.5 0.728 M6x5.5 0.728
M6x5.75 0.76 M6x5.75 0.76
BSMO06 M6x6 0.808 BSMO06 M6x6 0.808
BFEIRET M6x6.25 0.862 S ErRET M6x6.25 0.862
Balance Screws M6x6.5 0.894 Balance Screws M6x6.5 0.894
M6x7 0.978 M6x7 0.978
M6x7.5 1.066 M6x7.5 1.066
M6x8 1.138 M6x8 1.138

*I) IR TR,

B FERE TR T I,

16



17

SEGNIC 7%= x40

C-Locksz 13k JI#K(C-Lock Milling Chucks Holder)

15834,
ASRFEC-LocklE;

3.7 ERERZEDIN1835BIREN T

R~fSize @
me A (mm)
Model — RE
dm D L Coliets
BT40-SC32-105 40 32 72 105 SC32-%*
BT40-SC32-135 50 32 62 135 SC32-%x*
BT50-SC32-110 50 32 72 110 SC32-%*
BT50-SC32-135 50 32 72 135 SC32-*x*
BT50-SC42-110 50 42 87 110 SC42—*x*
B TR ERIRI T A,
Ffi {4 Accessories C32 C42
2=, #RF Hex Wrench WCN32 WCN40
s dm
Caler
ollets

P4 ) SC32-16 16

Accessories SC32-18 18

SC32-20 20

SC32-25 25

SC42-32 &2

BRI RECEC-LockREER , BT BERERNFFEDIN1S35BiR/ERIEIFEWR.

SEGNIC # %= w15°

C-Locki@Aa%E:kJI#H(C-Lock Milling Chucks Holder)

1381555,
2 Z5EEHC-LoCkIHE;

3. JJERER%DIN1835BImENT .

BE |~ |
Model —— 'E%
dm ) L Collets
HSK63A-SC32-115 HSK-A63 32 72 115 SC32-**
HSK100A-SC32-120 HSK-A100 32 72 120 SC32-*x*
HSK100A-SC32-120 HSK-A100 32 72 120 SC32—**
HSK100A-SC42-120 HSK-A100 42 87 120 SC42-*x*
4T R IRIT I,
ff$14 Accessories C32 Cc42
S~ #RF Hex Wrench WCN32 WCN40
¥4 Accessories Dh=63 Dh=100
BEHRESE Coolanttubes TU-HSK63 TU-HSK100
#%F Coolanttube Wrench W-HSK63 W-HSK100
_ts dm
Coliets
Accggﬁries SerzZmlb e
SC32-18 18
SC32-20 20
SC32-25 25
SC42-32 32

*RAFL BRI B EC-LockREMRER . BT BRI AFFEDIN1835BIREREIFER.

18



SEGNIC # % z=1°

AAENR(RT B &) (Shrink Fit Toolholders—Variable Balance)
SEGNIC

AR IIAR® 900, PIEE R .
G2.5
N = s N P2 AL
EINEISIS L2
Variable Balance Hot Charging Holder
o TEANT it |
R~fSize
S l (mm) E
Model — 25T
= dm D1 D2 L H S
BT40-BSF08-90 40 8 20 27 90 36 S006014C
-120 40 8 20 27 120 36 S006014C
BT40-BSF10-90 40 10 24 32 90 42 S008014C
-120 40 10 24 32 120 42 S008014C
BT40-BSF12-90 40 12 24 32 90 47 S008014C
-120 40 12 24 32 120 47 S008014C
BT40-BSF14-90 40 14 27 34 90 47 S008014C
-120 40 14 27 34 120 47 S008014C
BT40-BSF16-90 40 16 27 34 90 50 S012014C
-120 40 16 27 34 120 50 S012014C
BT40-BSF18-90 40 18 33 42 90 50 S012014C
-120 40 18 33 42 120 50 S0O12014C
BT40-BSF20-90 40 20 &3 42 90 52 S016016C
-120 40 20 33 42 120 52 S0O16016C
BT40-BSF25-100 40 25 44 58 100 58 S016016C
-120 40 25 44 53 120 58 S016016C
*HHE R ERIRITIA,
Bfi {4 Accessories dm=8 dm=10 dm=12 dm=14 dm=16 dm=18 dm=20 dm=25 dm=32
F~—=1i"F Hex Wrench S3 S4 S4 S4 S6 S6 S8 S8 S8
B4 58S B HE/9
Accessories Ordering code Model Weight/g
M6x%3.5 0.478
M6x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76
BSMO06 M6x6 0.808
B EIRET M6x%6.25 0.862
Balance Screws M6x6.5 0.894
M6x7 0.978
M6x7.5 1.066
M6x8 1.138

“IFEIRE TR,



21

SEGNIC # %= w48°

AAERD(AT &) (Shrink Fit Toolholders—\Variable Balance)

00
220,

G2.5

BIEEIFEnRIT .

RfSize
me A (mm)
Model P— 1257
= dm D1 D2 L H Sam
BT50-BSF08-100 50 8 20 27 100 36 S006014C
-120 50 8 20 27 120 36 S006014C
BT50-BSF10-100 50 10 24 32 100 42 S008014C
-120 50 10 24 32 120 42 S008014C
BT50-BSF12-100 50 12 24 32 100 47 S008014C
-120 50 12 24 32 120 47 S008014C
BT50-BSF14-100 50 14 27 34 100 47 S008014C
-120 50 14 27 34 120 47 S008014C
BT50-BSF16-100 50 16 27 34 100 50 S012014C
-120 50 16 27 34 120 50 S012014C
BT50-BSF18-100 50 18 33 42 100 50 S0O12014C
-120 50 18 33 42 120 50 S012014C
BT50-BSF20-100 50 20 33 42 100 52 S016016C
-120 50 20 33 42 120 52 S0O16016C
BT50-BSF25-110 50 25 44 53 110 58 S0O16016C
-135 50 25 44 60 135 58 S016016C
BT50-BSF32-110 50 32 44 53 110 58 S0O16016C
-135 50 32 44 60 135 58 S016016C
*HHAR SRRIT I,
Bf#44 Accessories dm=8 dm=10 dm=12 dm=14 dm=16 dm=18 dm=20 dm=25 dm=32

F~—1"F Hex Wrench  S3 S4 S4 S4 S6 S6 S8 S8 S8

B4 UHKs S 58/9

Accessories Ordering code Model Weight/g
M6x3.5 0.478
M6x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76

BSMO06 M6x6 0.808

B FEIRET M6x6.25 0.862

Balance Screws M6x6.5 0.894

M6x7 0.978

M6x7.5 1.066

M6x8 1.138

*I) IR TR AT,

SEGNIC 7 %= w45

HAERR(A] B F4E) (Shrink Fit Toolholders—\Variable Balance)

20075, AN ERRIT .
G2.5
RJSize
Bs = (mm)
Model — HRET
Dh dm D1 D2 L H Sarew
HSK63A-BSF08-80 HSK-A63 63 8 20 27 80 36 S006014C
-120 HSK-A63 63 8 20 27 120 36 S006014C
HSK63A-BSF10-85 HSK-A63 63 10 24 32 85 42 S008014C
-120 HSK-A63 63 10 24 32 120 42 S008014C
HSK63A-BSF12-90 HSK-A63 63 12 24 32 90 47 S008014C
-120 HSK-A63 63 12 24 32 120 47 S008014C
HSK63A-BSF14-90 HSK-A63 63 14 27 34 90 47 S008014C
-120 HSK-A63 63 14 27 34 120 47 S008014C
HSK63A-BSF16-95 HSK-A63 63 16 27 34 95 50 S012014C
-120 HSK-A63 63 16 27 34 120 50 S012014C
HSK63A-BSF18-95 HSK-A63 63 18 33 42 95 50 S012014C
-120 HSK-A63 63 18 33 42 120 50 S012014C
HSK63A-BSF20-100 HSK-A63 63 20 88 42 100 52 S016016C
-120 HSK-A63 63 20 33 42 120 52 S0O16016C
HSK63A-BSF25-115 HSK-A63 63 25 44 58 115 58 S016016C
*HHA R ERIRITIA,
Fff{4 Accessories dm=8 dm=10 dm=12 dm=14 dm=16 dm=18 dm=20 dm=25 dm=32
F~—=3#F HexWrench S3 S4 S4 S4 S6 S6 S8 S8 S8
B TS ns E/g
Accessories Ordering code Model Weight/g
M6x3.5 0.478
M6x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76
BSMO06 M6x6 0.808
T ETRET M6x6.25 0.862
Balance Screws M6x6.5 0.894
M6x7 0.978
M6x7.5 1.066
M6x8 1.138
- BHRES
i =4 -
EE Coolant tubes TU-HSK63
e
F=== Coolanttube W-HSK63
Wrench

*I IR TR AT,

22



SEGNIC # % z=1°

AAENR(R]E &) (Shrink Fit Toolholders—Variable Balance)

SEGNIC # %z

BT (Shrink Fit Extensions)

90073, AIEENENRIT
G2.5
R<Size
RS | | (mm)
Model — 2
Dh dm D1 D2 L H T
HSK100A-BSF08-85 HSK-A100 100 8 20 27 85 36 S006014C
-120 HSK-A100 100 8 20 27 120 36 S006014C
HSK100A-BSF10-90 HSK-A100 100 10 24 32 90 42 S008014C
-120 HSK-A100 100 10 24 32 120 42 S008014C
-160 HSK-A100 100 10 24 34 160 42 S008014C
HSK100A-BSF12-95 HSK-A100 100 12 24 32 95 47 S008014C
-120 HSK-A100 100 12 24 32 120 47 S008014C
HSK100A-BSF14-95 HSK-A100 100 14 27 34 95 47 S008014C
-120 HSK-A100 100 14 27 34 120 47 S008014C
HSK100A-BSF16-100 HSK-A100 100 16 27 34 100 50 S012014C
-120 HSK-A100 100 16 27 34 120 50 S012014C
HSK100A-BSF18-100 HSK-A100 100 18 33 42 100 50 S012014C
-120 HSK-A100 100 18 33 42 120 50 S012014C
HSK100A-BSF20-105 HSK-A100 100 20 33 42 105 52 S016016C
-120 HSK-A100 100 20 83 42 120 52 S016016C
HSK100A-BSF25-115 HSK-A100 100 25 44 53 115 58 S016016C
HSK100A-BSF32-120 HSK-A100 100 32 44 53 120 58 S016016C
PRI T,
ff#{4 Accessories dm=8 dm=10 dm=12 dm=14 dm=16 dm=18 dm=20 dm=25 dm=32
F~—13iRF HexWrench S3 S4 S4 S4 S6 S6 S8 S8 S8
B4 T8RS BE BHE/9
Accessories Ordering code Model Weight/g
M6x3.5 0.478
M6x4 0.524
M6x5 0.64
M6x5.5 0.728
M6x5.75 0.76
BSM06 M6x6 0.808
FEIRET M6x6.25 0.862
Balance Screws M6x6.5 0.894
M6x7 0.978
M6x7.5 1.066
M6x8 1.138
= RHREE
EE Coolant tubes TU-HSK100
RF
F==== Coolanttube W-HSK100
Wrench

“ AR TR AT .
28

RERER<5mm REREE>5mm
4R /,\ VZIAN
R~fSize
=2 (mm)
hletziel L dm D1 D2

C12-SFX03-160 160 3 8 12

C12-SFX04-160 160 4 8 12

C16-SFX03-160 160 3 8 16

C16-SFX04-160 160 4 8 16

C16-SFX05-160 160 5 12 16

C16-SFX06-160 160 6 12 16

C20-SFX05-160 160 5 12 20

C20-SFX06-160 160 6 12 20

C20-SF08-160 160 8 14 20

C25-SF08-160 160 8 14 25

C25-SF10-160 160 10 20 25

C25-SF12-160 160 12 20 25

C25-SF16-160 160 16 22 25

C32-SF10-160 160 10 27 32

C32-SF12-160 160 12 27 32

C32-SF16-160 160 16 27 32

C32-SF18-160 160 18 27 32

C32-SF20-160 160 20 27 32
TR ERITIE,

#Z{4 Spare parts dm=6 dm=8 dm=10 dm=12 dm=16 dm=18 dm=20
& /0@ HEEST Coolant Screw S005014C S006014C S008014C S008014C S012014C S012014C S016016C
=14 Spare parts dm=6 dm=8 dm=10 dm=12 dm=16 dm=18 dm=20

F~—=1RF Hex Wrench S2.5 S3 sS4 sS4 S6 S8 S8

24



SEGNIC 7%= s

MIE = JI#%(Side Lock Holder)
SEGNC )

ARIEE® s Rt

7
MIE=JI# Side Clamping Holder
o TS, FrlE;
ME=IREEEMEETIERE.
fhik HInEE, THEEIMRITHELS o R(Tf51§e E ot
. " e l mm A
1, Zets, Brlik. Model - . 5 L - 1247 Type
o N Screw
NP, = ML .
©® FUFELERIT; BT40-BXP16-63 40 16 48 63 52 SXP16 I
TR AR T RRR T MBI TR SHg:giEgg:;g 28 gg 28 ;8 gg giﬁgg %[
oA, BT40-BXP32-100 40 32 80 100 70 SXP32 o
BT50-BXP16-80 50 16 48 80 52 SXP16 I
BT50-BXP20-80 50 20 50 80 54 SXP20 I
BT50-BXP25-100 50 25 60 100 66 SXP25 il
BT50-BXP32-105 50 32 68 105 70 SXP32 i
BT50-BXP40-120 50 40 84 120 80 SXP32 i
PSRRI T,
fff{4Accessories dm=16 dm=20 dm=25 dm=32 dm=40

F~=1#%3F Hex Wrench S6 S8 S8 S10 S10




SEGNIC # % x=1s°

&= JJ#8(Side Lock Holder)

TRt

R~fSize
RS | | (mm) B
Model —— 25T Type
DH dm D L H S
HSK63A-BXP16-80 HSK-A63 63 16 48 80 52 SXP16 I
HSK63A-BXP20-80 HSK-A63 63 20 50 80 54 SXP20 I
HSK63A-BXP25-110 HSK-A63 63 25 60 110 66 SXP25 o
HSK63A-BXP32-110 HSK-A63 63 32 68 110 70 SXP32 I
HSK100A-BXP16-100 HSK-A100 100 16 48 100 52 SXP16 I
HSK100A-BXP20-100 HSK-A100 100 20 50 100 54 SXP20 I
HSK100A-BXP25-100 HSK-A100 100 25 60 100 66 SXP25 o
HSK100A-BXP32-100 HSK-A100 100 32 68 100 66 SXP32 I
HSK100A-BXP40-120 HSK-A100 100 40 84 120 80 SXP32 I
-160 HSK-A100 100 40 84 160 80 SXP32 I
PR ERITIA,

Bft {4 Accessories dm=16 dm=20 dm=25 dm=32 dm=40
~ ix F HexWrench S6 S8 S8 S10 S10
E= #ZA#KREE Coolanttubes TU-HSK63
iR F  Coolanttube Wrench W-HSK63

27

SEGNIC

ARBEE®

087 EHR Power Hydraulic Pressure Holder

® SEERE, BES;
SR NRETIRGORITEE. HBit, BEEEF
NERONE, fre®REND. KADEIENTInaRM
Xy n=

o BB, BAMMK;
SR 750NmM(® 20mm)aY%E, FRiIEJJEESAITIE]
M,

o REIEERRARE;
EARIN T EERAERREIRIERE, BBEXERID
T THERAERE.

o iBfE. 4P,

28



SEGNIC # %z %° SEGNIC 7 %z %°

s2 IR IEFR(Power Hydraulic Pressure Holder) s2 i IEFR(Power Hydraulic Pressure Holder)

’f_)QOOrD 7 ,,/6“00’0 2
G2.5 G2.5
RfSize E RfSize E
me [ (mm) - e 3 (mm) b,
Model — <3 Model — <3
- dm D L Screw dm D L Screw
BT40-HC20P-60 40 20 53 60 S008014C HSK63A-HC20P-90 HSK-A63 20 53 90 S008014C
BT50-HC20P-70 50 20 53 70 S008014C HSK100A-HC20P-95 HSK-A100 20 53 95 S008014C
BT50-HC25P-75 50 25 65 75 S008014C HSK100A-HC25P-105 HSK-A100 25 65 105 S008014C
BT50-HC32P-80 50 32 75 80 S008014C HSK100A-HC32P-110 HSK-A100 32 75 110 S008014C
PR ERIRIT I, MR ERIRITIE,
P4 Accessories dm=20 dm=25 dm=32
(A~ #%F Hex Wrench TS5
i {4 Accessories Dh=63 Dh=100
Kf44 Accessories dm=20 dm=25 dm=32
REBWEE Coolant tubes TU-HSK63 TU-HSK100

A~ #RF Hex Wrench TS5 i F Coolanttube Wrench W-HSK63 W-HSK100




SEGNIC # %=

3
pi

Vi&(V-Holder)
SEGNIC

RIREAES

MrMERE B 22 TR —ViR
\V-Holder

® ES LS,

R<Size )
= S5 - = ’
® EBINTHE; 28 A B (mm) b4
o [FRIRBBEEK; = D dm L F1 F2 Nuts Collets
R BT30-V11-70 30 MO0.5~M4(No.0~No.8) 16 Ty 70 0.5 0.5 ERP-11S ER11
= v=E =,
@ IESENUEENEFERS; BT40-V20-85 40 34 3~10 85 05 05 CN20HS ER20
® [ isb BT50-V20-100 50 M4~M12(No.8~7/16) 34 3~10 100 0.5 0.5 CN20HS ER20
B2 HEEIE; BT40-V32-110 40 M4~M20(No.8~4/3) 50 3~16 100 0.5 0.5 CN32B ER32
. . BT50-V32-115 50 ' 50 3~16 115 0.5 0.5 CN32B ER32
@ EAHFEFNMRSINT . —
Bae=ai==F AN
*ERERIER , aNEE RS,
P2 B4
Spare Parts with Coolant V20 vs2
@ WISHER Coolant Nuts CN20C CN32C
1F7k#EE Sealing Disk DER20C-* DER32C-*
fff{4 Accessories V20 V32
S, #BfHRE Wrench for Nut W30D YER32B

2=, PRAHRFE Wrench W24D W36D




33

SEGNIC # %z

ViR(V-Holder)

SEGNIC

R~Size AR @

s | | N (mm) ®
D dm L F1 F2 Nuts Collets
HSK63A-V20-100 HSK-A63 34 3~10 100 0.5 0.5 CN20HS ER20
HSK100A-V20-110  HSK-A100 M4-M12(No.8~7/16) 34 3~10 110 0.5 05 CN20HS ER20
HSK63A-V32-120 HSK-A63 50 3~16 120 0.5 0.5 CN32B ER32

M4-M20(No.8~4
HSK100A-V32-130 HSK-A100 0(No.8~4/3) 50 3~16 130 0.5 0.5 CN32B ER32
PR ERIRIT I ;
*EEEFRINER | AEE RIS,
PS4
V2 V32
Spare Parts with Coolant 0 3
IR oolan uts
@ HISIEE Coolant Nut CN20C CN32C
1E7k B Sealing Disk DER20C-* DER32C-*
K44 Accessories V20 V32
Sr—, BEHHRF Wrench for Nut W30D YER32B
2=, BR{zIRF Wrench W24D W36D

Pff{4 Accessories HSK-A63 HSK-A100

E= Z#REE Coolanttubes TU-HSK63 TU-HSK100

#XF Coolant tubes wrenches W-HSK63 W-HSK100

T e ST EE ]
Aerospace Industry
Solid Carbide End Mills

® KRR TS S Ht ) EHlse ]!

34



SEGNC %% z%° SEGNIC 7%=z

AR AR E S IM<EE 5]
(Elongated Solid Carbide End Mills for Aluminium Alloy)

AR AEREEILT]
(Solid Carbide End Mills for Aluminium Alloy)

35

B : B :
R ‘%—J R ‘%—J
L L
R~fSize R~fSize

s (mm) BE (mm)

s dc dm L | R Model dc dm L | r
ETN2300R03-4 4 4 51 14 0.3 EFN2300R03-4 4 4 80 20 0.3
ETN2300R05-4 4 4 51 14 0.5 EFN2300R05-4 4 4 80 20 0.5
ETN2300R03-6 6 6 61 19 0.3 EFN2300R03-6 6 6 90 25 0.3
ETN2300R05-6 6 6 61 19 0.5 EFN2300R05-6 6 6 90 25 0.5
ETN2300R10-6 6 6 61 19 1 EFN2300R10-6 6 6 90 25 1
ETN2300R03-8 8 8 61 21 0.3 EFN2300R03-8 8 8 110 35 0.3
ETN2300R05-8 8 8 61 21 0.5 EFN2300R05-8 8 8 110 35 0.5
ETN2300R10-8 8 8 61 21 1 EFN2300R10-8 8 8 110 35 1
ETN2300R05-10 10 10 70 22 0.5 EFN2300R05-10 10 10 130 45 0.5
ETN2300R10-10 10 10 70 22 1 EFN2300R10-10 10 10 130 45 1
ETN2300R20-10 10 10 70 22 2 EFN2300R20-10 10 10 130 45 2
ETN2300R30-10 10 10 70 22 3 EFN2300R05-12 12 12 150 55 0.5
ETN2300R05-12 12 12 76 25 0.5 EFN2300R10-12 12 12 150 55 1
ETN2300R10-12 12 12 76 25 1 EFN2300R20-12 12 12 150 55 2
ETN2300R20-12 12 12 76 25 2 EFN2300R30-12 12 12 150 55 3
ETN2300R30-12 12 12 76 25 3 EFN2300R05-14 14 14 175 70 0.5
ETN2300R05-14 14 14 89 32 0.5 EFN2300R20-14 14 14 175 70 2
ETN2300R20-14 14 14 89 32 2 EFN2300R05-16 16 16 175 70 0.5
ETN2300R05-16 16 16 89 32 0.5 EFN2300R20-16 16 16 175 70 2
ETN2300R20-16 16 16 89 32 2 EFN2300R30-16 16 16 175 70 3
ETN2300R30-16 16 16 89 32 3 EFN2300R05-18 18 18 175 70 0.5
ETN2300R05-18 18 18 102 38 0.5 EFN2300R20-18 18 18 175 70 2
ETN2300R20-18 18 18 102 38 2 EFN2300R05-20 20 20 200 75 0.5
ETN2300R05-20 20 20 102 38 0.5 EFN2300R20-20 20 20 200 75 2
ETN2300R20-20 20 20 102 38 2 EFN2300R30-20 20 20 200 75 3
ETN2300R30-20 20 20 102 38 3

A RIER PRI T ERHIE,

*AIRIER PRI T EREE.

36



SEGNC 7%=z

REeTsHBRERE %]
(Solid Carbide End Mills for Titanium Alloy)

37

dc

dm

R<fSize

ms (mm)

hizieizl dc dm L | R
ETST4300R05-4 4 4 51 12 0.5
ETST4300R05-6 6 6 61 19 0.5
ETST4300R05-8 8 8 61 21 0.5
ETST4300R10-8 8 8 61 21 1
ETST4300R05-10 10 10 70 22 0.5
ETST4300R10-10 10 10 70 22 1
ETST4300R20-10 10 10 70 22 2
ETST4300R05-12 12 12 76 25 0.5
ETST4300R10-12 12 12 76 25 1
ETST4300R20-12 12 12 76 25 2
ETST4300R05-14 14 14 89 32 0.5
ETST4300R20-14 14 14 89 32 2
ETST4300R05-16 16 16 89 32 0.5
ETST4300R20-16 16 16 89 32 2
ETST4300R30-16 16 16 89 32 3
ETST4300R05-18 18 18 102 38 0.5
ETST4300R20-18 18 18 102 38 2
ETST4300R05-20 20 20 102 38 0.5
ETST4300R20-20 20 20 102 38 2
ETST4300R30-20 20 20 102 38 3

*AIRIE R P AN TR AE,




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20

